Code No. 36

Total No. of Questions : 42 ] [ Total No. of Printed Pages : 8

June, 2008
BIOLOGY

( Kannada and English Versions )

Time : 3 Hours 15 Minutes ] [ Max. Marks : 90

( Kannada Version )

Zousdnes : i) OTBO03 Prinsy Moeas BYnEsy nas.
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11.

i) FINNERy MOTERT WPnYR WoBRYSY, ARSI
i -1 — (B30, )
TN -A
85 39NT [FRYR FBC3ROTBR, LOTH BT BFWe 2O WBTE), Y8 0 ¢
5x1=5
38083590 R03e@ ( Initiator codon ) &=y, W30WO.
RR,NYE) T I 2262308 ( Simple living ) ©0M03EEY, RO
WOTRFY ( Guttation ) &Y, 359,809,24.

WeIBREBT 33,0 Tord, ( Energy currency ) @3, IROA.

Gyeo&ed ( Biennial ) R399, Weegon® ( Bolting ) 1 53060:N0E  SAGRS

(R pee) TR, BROA.

TN - B

83 3$N3 @ﬁqﬁ%f@m O3YTIITTLR 20T @%ﬁ@ﬁ 2 00T 5 B, nYE) w038 0 :
5x2=10

00, 0., ( RNA ) 0306) 0 QG 88,8 BRedEenesy B, Snk.

39 30831 ( Genetic engineering ) 3€) LOT3RNFE FOTTBNATRY, L0 eDA.
¢3e803m ( Trachea ) @08, €368 ( Tracheid ) STQT &,F9,ANTTY, LTOWO.
wONEE ( Water potential ) S8, @59,803,2%. ©TT PRIBASTY 0 eDA.

WLTIRODNTY, @9, 2T, DR, WIREINCD  wvZ ews ( Growth promoter ) Y,
PR30 ABReeEd ( Growth inhibitor ) PR L0BROTY GTIRTR BRR.

Q2% @.2. ( NAA — Naphthalene Acetic Acid ) 03 QTR 9 ,030R$TY 0es edR.
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12.
13.

14.

15.

16.

17.

I1.

N -C
B3 BINT OSNRTImTR TR, JBN9N  Jeodeowse, 200 - 250 ITNGE,
ORB,NT T Y0,T WIWD ¢ 4 x5=20

39 R03e3TT 203D O, LNTRY, e, WRR, NROA.

Q.QT%.Q. WO$L), 3082393 ( DNA fingerprinting technique ) @ Q0G J0INTZY,
QA

WRITINY FoTeR PR NG, edERAES RRTOT-L,SeBT® — PR
®MrRm ( Super-ovulation - embryo transfer ) 8080 QQG BOINTRY RO

ODRONT  BFBS ( Secondary growth ) 0w3ed> 7 DBHT  Toz5e030
Extrastellar ) @=0@R0NE 3¢9x363R03033, Q8¢ 33,3, 0S0R.

TYRRENT F[TOC3RODN TR FeoRE [IJX B0 Tl ( Munch's mass
flow hypothesis ) 0353 Q&@0A.

WL FTROTTR BOWENRRYANE ©03n$ 88, ( Law of limiting factors ) &=, Ww30W0.

03,8808 ¢RI BTRTY, ACLV0ZAT 0330YTIE0R Tow), LToFH, YWOBNTRY WX0A.
TN -D

85 39NT [FNYE), CWRFYTTETR wWodd BB 11 LB 0 ¢ 1x5=5

18. RpReag o (Preparatory ) 30303000m 3® B3R SRCRTIWE, JVRTH
( Schematic representation ) 038y, 223000.

19. 8 ZNIIYRIN To0cNnTRY, Bk : 5x1=5

a)  ODRTICREEESTT MOFFatd ( Gene ) MEd e 22e3dNEd ( Split genes ).

b) 833 ©8 (Goldenrice) 088 [REXT NEDTY, TR
( Transgenic ) 33,33:33,89,C.

C) YOI VEATOZ LToFNIWERN0D T8 I, 3,3

d) RRIRITT YATE Fonew (RQ) 1 8N38 3.

e) 30pe3TA03, ( Carotenoid )'mag ﬂn%oéfaéfaeje ( Xanthophyll ) ¥R,
OZORONT ( Accessory ) T33,8R08 ez wor T3 Nesy,@e,0.

( T030eNE TBERT B30 N, )

B3 B9NT BFNYE), BRJYTTTR wowd FF R L0304 : 1x5=5
20. a) LYOLEROD DTOUTEE RPN DB ART WB08 OB e (DT 0T
2,023 TaN) 03> BOTETCS 3BTy, WAL LTINNPRY, TOTIER. 4

b) {39 FRZT T0TRE ZFPEEA® ( Hypodermis ) 8¢ 00% ©0me03==y,
QRDA. 1

21. soend, AR AR ( Potato osmoscope ) TZOBRMTTY, WNNTRY,

rbTeAs BITR0aR HTOR. 5



22.

23.
24.

25.
26.

27.

28.

29.
30.
31.
32.

33.

34.

35.

3 Code No. 36

on - I — (=207, )
N -E

85 39NT [F NI FBC3ROTBR, LOTN BT BFwe 20D WB,TE), Y8 0¥ ¢
5x1=5

QB NZBY X08T ( Monohybrid cross ) © ©3 £ 30dy, ©=30we8 ( Phenotypic

ratio ) &=y, W30WO.

©0¢3,0308 ( Afforestation ) Q0T3e> ?

needngBe3s® ( Gametokinetic ) ®03R03 ITCHQEE TATHI (TR RERD)

TRy, BROA.

BB Y8, ( Cardiac output ) 0T, 359,579,RR.

o0 B, WRHIT RG, BWIRENE DRTOORNTFT,N AT Q8 Aowse ( Organic

connection ) &Y IROA.
Ien -F
85 39NT [FNYE), SNFYTETR KRB IFNRENR 2 00T 5 wWaBNeE) evg8 0R ¢
5x2=10
T A nodne 308 B mhodne RZ NNk ( Heterozygous ) @G T,
ROBEONE), FTWTE TT, B MORYRLRY, L0 eDR.

FR@ 033 ( Species diversity ) 02, &3 F0B,E ( Habitat diversity )
nY SRR 23,89, Fesy, WI0W0.

063 T AIBYODOTTER 7 WY F0TT, WO TR QEISNSRY, L0 eDA
83 (T) @3B, ¥ (B) OoPpAETFNY IBAT S0 R,39,AMERY, W30W0.
©39,:32,3 ( Hyperacidity ) ©0T3es 7 Q0@ F06aneay, w0ed ead?u
QEO3EERD 0B, BOEILNNY ST T, TYANTTY, Beg, TWhE.

TN -G

B3 BINT O3NRYTTETR Ty, JFNRON TJ@3R0WER, RERT> 200 - 250 ITRLE,
OTB, N3 T WIWO ¢ 4x5=20

AT-TYRT 30e302e003 ( Criss-cross inheritance ) 0FY, 309,809,Q%. RWRTRIET
w08 ( Colour blindness ) 030Fy, SVGIGTROIR0ON L0,

2R BOF30D B HB0T3e 7 2@ BQP30N B OBR  F90eaTNTIT
C3RRYTIIBTR T, R[N @2 ( Anthropocentric ) ¥OBRYTY DESOA.

LORTOES 303 ( Breathing ) o33y 9,809, R LORTOES 303003
0320888 ( Mechanism ) 005 Q0A.
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36.

37.
38.

II1.

VRRPTEPTAITT  ( Adenohypophysis ) & CO30ITETR DX TITRI
(BIRBRFERD) NETY, Te, SRR VYT WOTROTD FAORVETY, Y0 eDA.

20T, YOTYTION FONONE. T QLG TOBAGT, DTOA.
YOTANNT A0RTET T3 ( Generalised structure ) 0T DeSOA.
Zen -H
B3 3YNT FFNYE), CNFYTTETR wWotd BJ 11 L3 0 ¢ 1x5=5
39. TTRT FTYT BTAePE ( Sagittal section ) 0D VOTTIT IRy, LT B
BSNT TaNNEy, MoTHey :

Teod,R, ( Cerebrum ), &3FRF, ( Cerebellum ), &z ( Pons ),
D@, T orteesy ( Medulla oblongata ), 5o@ea° 880eR=T® ( Corpus
Callosum ), [FZPFOER® ( Hypothalamus ), &30, I,3°. 5
40. 3 ZSNIRYRIN To0cNTRY, Bk : 5x1=5

a) I4 3, 1P ‘T Fue’ wun, 289, ((Allele ) nish
b)  T0INTOBOTY, WMOT  FOIRFFT TR 23R, 08RMHTO0T
BRT0BO YR 0T ( Global warming ) €00Em3 3.

c)  OITRIRCRTN 7},00559230030€), Bk &3S 3,08003
YTPEITTINTZ, 3.

d) STeRRm R 88,3E) MY Bemaa's S 35, M03.3.
e) BIROD SNk ( Zygote ) B QBET ( Cleavage ) T IR0NTE, =D
239 RQ,2Q00NTRLD YO8 @ CIRTHE 3.
(mx03.0enE B3 8300 I3 Ned Ve, )
85 3YNT CTRRYTITTH woT> FF R Y8 0% : 1x5=5
41. a) ORFET $T> TS ( Hepatic lobule ) 03 &3, 2e930d ©0T=3 WZR=Y
T, BN TannTsy nOTOSA.

TTRIT L3030, TJTITT To@E, RAR,FIONTT,  RFT OVTIND

( Central vein ), Tmoe3s° TR, BDEILAET® 4

b) o3I, ©EOATE Rocdeewd @omeod ( Connective tissue ) T
TROBODTY, TROA. 1

42. a) DOC3ReTRT® ( Areolar ) @0M03TE YOETE 8BS, WO FNNLTY
nOT8R. 4

b) S5 SR FRITE) T MR BReAR), [3,3,L0 WIT H[IrI
23eeSTRAODT BOeg, ( Biochemical test ) O30T, BROR. 1
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11.

5 Code No. 36

( English Version )

Instructions :
i) Draw diagrams wherever necessary.

ii)  Unlabelled diagrams do not get any marks.

PART I — ( BOTANY)
PART - A
Answer the following questions in one word or in one sentence each :

5x1=5
Write the initiator codon.
Name the simple living tissue in plants.
Define guttation.
Name the energy currency of the cell.

Name the hormone responsible for bolting in biennial plants.

PART - B
Answer any five of the following in 2 to 5 sentences each : 5x2=10
List the different kinds of nucleotides in RNA.
Mention the tools used in Genetic engineering.
Differentiate between trachea and tracheid.
Define water potential. Mention its components.

Define growth. Mention one example each for growth promoter and growth

inhibitor in plants.

Mention any two commercial applications of Naphthalene Acetic Acid
( NAA).
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12.
13.

14.

15.

16.
17.

I1.

PART - C

Answer any four of the following in about 200 to 250 words each
wherever applicable : 4 05 =20

List and explain any five features of Genetic code.
Explain the steps involved in DNA fingerprinting technique.

Explain the steps involved in super-ovulation and embryo transfer in cattle
breeding.

What is secondary growth ? Explain extrastellar secondary growth in dicot
stem.

Describe Munch’s mass flow hypothesis with an experimental model.

State Blackman'’s law of limiting factors. Explain any four external factors
affecting the rate of photosynthesis.

PART - D
Answer any one of the following : 1©5=5

18. Write the schematic representation of Kreb’'s cycle with the
preparatory phase.

19. Give reasons for the following in one sentence each : 5¥1=5
a) Eukaryotic genes are split genes.
b)  Golden rice plant is a transgenic plant.
c) As the wind blows the rate of transpiration increases.
d) RQ value of glucose is 1.

e) Carotenoids and  Xanthophyll are called accessory
photosynthetic pigments.

( Questions only from the Practical syllabus )
Answer any one of the following : 1©5=5

20. a) Draw a neat labelled diagram of T.S. of young monocot root
( enlarged portion ) to show anatomical details. 4

b) Name the tissue in the hypodermis of Dicot stem. 1

21. Explain potato osmoscope experiment with labelled diagram. 5



22.

23.

24.

25.

26.

27.

28.
29.
30.
31.

32.

33.

34.

7 Code No. 36
PART II — ( ZOOLOGY )
PART - E
Answer the following questions in one word or one sentence each :
501=5
Write the phenotypic ratio of monohybrid cross.
What is afforestation ?
Name the gametokinetic factor.
Define cardiac output.

Name the organic connection between the mother and foetus that helps in

the physiological exchange.

PART - F

Answer any five of the following in about 2 to 5 sentences each :
502 =10

Mention the possible blood groups of the progeny whose mother is
heterozygous for Group-A and father is heterozygous for Group-B.

Differentiate between species diversity and habitat diversity.

What is soil erosion ? Mention any two methods of soil conservation.
Write any two differences between T-Lymphocytes and B-Lymphocytes.
What is hyperacidity ? Mention two causes.

List the differences between sperm and ovum.

PART - G

Answer any four of the following in about 200 to 250 words each
wherever applicable : 4 05 =20

Define criss-cross inheritance. Explain this with reference to colour

blindness in man.

What is Biodiversity depletion ? Explain any four anthropocentric causes

of biodiversity depletion.
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35. Define breathing. Explain the mechanism of breathing.

36. List any five hormones of the adenohypophysis ( anterior lobe ) and

mention one function each of them.
37. Explain the steps involved in urine formation.

38. Explain the generalised structure of ovum.

PART - H
I. Answer any one of the following : 1©5=5

39. Draw a neat diagram of the sagittal section of human brain and label

the following parts :

Cerebrum, Cerebellum, Pons, Medulla oblongata, Corpus callosum,
Hypothalamus, Pituitary, Sulcus. 5

40. Give reasons for the following in one sentence each : 5 1=5
a) Alleles [4 and IB are co-dominant.
b) Accumulation of CO, in the atmosphere results in global
warming.
c) In the absence of Enterokinase, protein digestion is incomplete.
d) During fasting, the level of glucagon increases in blood.

e) Cleavage in frog’s zygote results in unequal blastomeres.

( Questions only from the Practical syllabus )
II. Answer any one of the following : 1©5=5

41. a) Draw a neat diagram of hepatic lobule and label the following

parts : 4

Hepatic triad, Hepatic chord, Sinusoids, Central vein, Hepatic

artery, Hepatocyte.
b) Name the connective tissue covering of liver. 1
42. a) Draw a neat labelled diagram of areolar tissue. 4

b) Name the biochemical test to detect the presence of glucose in

the urine of diabetic. 1



